=LPDB

*UXSD 5R]NEDG $"0/

6

7\J

7N 7N
o 3RVICSRZDQIH =DPyZIHQD SXELF]QH
M DGPIQVILDFNIQH Z  GU = GUOXFKD -UJ\VJIRI
SyIFFND (ZD  $70 /| $*0/ =
- INGJIHE  ]DICFID
RQ (LQH PLQXI RQ 0QH
7N 7N 7N 7N
3UDZR PLCG]\QDUIRGRZH
% SUTHGPLRI GR Z\ERUX 6HPLQDUXP G\SIRPRZH 3UJHGPLRI IDNXUDINZQ\ G Z GU .DQHZVND
2 NIHUXQNRZ\ GU THIDVNR GU BRANVLDN 3DIUNFID U 68\V] $HNVDQGHU "RIRD $"0/ =
= gDyRZVND_(OzrjULQD SIRI $"0/ = $"0/ = NGJHE  JDICFD
N - $ - RQ (LQH 3UDZR SRGDINRZH RQ PLQXI RQ 0UQH
6IDIXV NRELHI Z SUDZLH IIQH
SRIVNLP RQ 0lQH ‘
N N N
%RN ICI\NRZ\  $~0 /|
6HPLQDUXP G\SIRPRZH H SUJHGPLRI GR Z\ERUX
a GUKDE SURI 8- = RIQIFN| NIHUXQNRZ\ GU KDE SURI
o 3DZHE $"O0/ = 8-~ +DEXGD $GDP
o $"0/ -
> UL
== U ]DICFID IDN 3UDZQD RFKURQD SUJ\URG
Z GURGC RQ UQH Z 3RIVFHL Z 8QL
(XURSHIVNLHI _
UL U JDICAD
IDN Z GURGC RQ 0IQH
N N 7\G]
= YRNIC]\NRZ\ ~ $~0 / 3UTHGPLRI IDNXUDINZQ\
< 3UTHGPLRI IDNXUDINZQ\ PJU = U]DIN ODJIGDIHQD
2 PJU = U]DIN ODJIGDIHQD $"0/ =
N $70/ = * HPRNUDFID
T ~ HPRNUDFID EH]SRGUHGQLD Z 3RVFH L
EH]SRGUHGQLD Z 3RVFH L QD GZIHFIH RQ (LQH
QD GZIHFIH RQ (LQH
7\G] \G]
6HPLQDUXP G\SRPRZH 6HPLQDUXP G\SRPRZH
GU -DVLEVND -XVINQD GU -DVIEVND -XVINQD
$"0/ = $"0/ =
= i 0
z RQ (LQH RQ (L.QH
=
Q N
n
6HPLQDUXP G\SRPRZH
GU -DVLEVND -XVINQD
$"0/ =
RQ (L.QH
04
©




